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20058 =4 1 3 LBt H MAE D
M NE Dt
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SRl U= 22 (&2 &<
2AH-Z3 . 2(3AH) - MEAY - BHES 0ff &M J| &M Hlns2
NI= ot 1,187,293 1,144,852 42,441
TR T 22 1,057,732 1,015,291 42,441
JNESH UL 1,057,732 1,015,291 42,441
ZEMAM 2 526,169 512,572 13,597
202 O4H] 59,562 45,965 13,597
01 22U ol 59,562 45,965 13,597
OXILH HSE 245 A7s L 2 A
273,600 x3 «6 2 4,925 0 4,925
OE=XNYUMEEANAL AIEX D A
273,600 x2H «82 4,378 0 4,378
OFYE =2 XN HRDN LEHF A
226,000 * 19 x 13 4,294 0 4,294
Mezel #E2XH 307,846 284,306 23,540
202 044l 61,383 54,816 6,567
01 22U ol 61,383 54,816 6,567
OXEA 222 Mg A= Y HMYH2
3= ZE 273,600 «7H x 122 22,983 16,416 6,567
303 T A= 46,973 30,000 16,973
01 ZAZ 46,973 30,000 16,973
ONZEI L A+RS S SLAZ (A
oHl) 353,600 x24 % x23] 16,973 0 16,973
Nel4e == 62,726 57,422 5,304
303 T A= 10,554 5,250 5,304
01 ZTA2 10,554 5,250 5,304
ONES ST ASAIZ(AAIEH])
353,600 x 15 *13] 5,304 0 5,304




